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1. oo Waiaee wa $e1ch! Af Sferear / Teq fay
1x6=6
Choose the correct answer / Answer the
following :

(@ @F ToqgEle FEe wofdl C=a+bY
FRFINCE® b T (202

In the equation C=a+bY, which
represents the Keynesian consumption
function, the value of b is

(i) 0O<b<l
i) 0>b<1
(i) O=b<1
(iv) b=1
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(2)

()

23
If MPC =02, then the investment
multiplier is equal to ' :

() 125

(i) 15 :

(i) 25

(iv) 225

‘Macro® *RHl 2 Ao (@A I9RA
e 2 |

Who first used the word ‘macro’ in
Economics?

(i) &
Keynes
(ii) SCHa
Marshall
(i) TR &S
Ragnar Frisch
(iv) ST GETe T

None of them

(d) 8¢ v @b TrrEad |
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Give one example of stock variable.
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(3)

(e) i FRFT T > IR TH /, (F o
If factor cost > market price, then
(i) *CIF I > S
indirect taxes > subsidies
(ii) *TATF F9 = e
indirect taxes = subsidies
(ii) AT F9 < T
indirect taxes < subsidies
(iv) S°[q GBS T2X

None of the above

() “ERE-ER RO IR S e ?
Who contributed the concept of
‘laissez-faire’?

(i) FfFs wLNfSRMT

Classical economist
(i) T-FRCFe SRS
Neo-classical economist
(iii) (PRI FLASRTT
Keynesian economist
(iv) S°/¥ «bre =

None of the above
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2. o) R @A PR @RS 5 G s 3x2%6

Write short notes on any two of the following :

(a) EBTS SN TTwPTR

Objectives of macroeconomics

(b) =T AR SR

Significance of sustainable atcounting

(c) R a3 qea

The concept of investment multiplier

(d) e SfS2mER IR @ oI

Transaction demand for money

3. (@) TEET @& &2 ANES @ @R SKEE
A 9 FRICEE AL 7 | 2+10=12
What is aggregate supply? Discuss the

factors causing shift in the aggregate
supply curve.

%<1/ Or

() T T k@ e ey ERSER
S[ICEOT 911 (S5 AITO] HF ALY AITON
JrE TR I 40 | 2+5+5=12
Define saving function. Discuss the
determinants of saving. Explain the
relationship between propensity to
consume and propensity to save.
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(S)

(@) '3 35 RRT Tewe Seomwm s feas Fok

(b)

(@)

(b)

TS ©eh! 7 9 |

Explain the classical theory of
determination of output and
employment with the help of Say’s law of
markets. '

<1/ Or .

Y590 Y TREWHE R I 390 | T (TSI
@2 oo dfey sRife ¢ Ry

12

EXIR 6+6=12

Describe the great depression of the
1930’s. Explain how it established
Keynesian thoughts. -

T/ QI T 1% 2 FLES 937 @Ry @

g e @@ @< SNSRI I 2+10=12

What is supply of money? Explain the
role of the central bank in controlling the
money supply of an economy.

%</ Or

@ RS ©g TR FR oI S
2R s efE e Ry w4 )

Explain the process of determination of
the equilibrium rate of interest using the
Keynesian liquidity preference theory.

12
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(6)
6. (a) &S FAIRRT e fa L 2x6=12
Define the foilowing :
(i) MPC
(i) MPS
(i) APS
(iv) 4T ST ;

Real income

(v) P TFG TR FHLCPI6F
GDP deflator

(vi) 8 Some =
NFIA

%241/ Or

(b) (i) ST FREFAR ST ol GDP
(J o9 Teom)e SNEEER TR
91 | 6

Evaluate the limitations of GDP as a
measure of economic activity.

(i) oFTS frATCAs e 2x3=6
B o, fesre wm, 5 IBR T

Define the following :

National Income, Personal Income,
Net National Product
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( 2039 T TA-TAN I TFSRE 20 779)
( Additional 20 marks for 2023 Batch )
7. (@) T 97 AT IFW GHI IR A=A

ey foas =Ee IRI 41 |, 10

Explain, with the help of a diagram, the
circular flow of national income in a
two-sector economy.

<1/ Or
(b) = SWR W61 Sapn A=y 340 | 10

Explain three motives of demand for
money. :

8. (0 ‘TEUM W WW ™ @ A AL
Gl 10

Define and distinguish between the
terms ‘ short term’ and ‘long term’.

¥/ Or
(b) T T Teowd 2 Yo WOR TEAWH N9
T ARSTR IR 2+8=10

What is GNP? Explain the methods of
calculating GNP.

* %k *k
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